QUOTATION: EE 2013-15

Sealed quotations, duly endorsed: "QUOTATION: EE 2013-15: GENERAL REPAIRS ON BRAKES, HYDRAULIC PUMP AND SERVICE ON TLB CAT 428B " addressed to the Municipal Manager, P O Box 99, KLERKSDORP, 2570 and to be placed before the closing date and time in the tender box in the foyer of the Civic Centre, Bloem Street, Stilfontein, are hereby invited and will be received by the undersigned up till 11:00 on 27 May 2014.

Specifications and more information can be obtained from the Acting Assistant Director Mechanical and Fleet: Mr G Nelson, P O Box 99, Klerksdorp, 2570, telephone number 018 487 8724.

Quotation documents are obtainable on payment of a non refundable fee of R50.00 and can be collected from the SCM Unit at room 108, contact no 018 487 8258, Civic Centre, Bloem Street, Stilfontein.

City Council reserves the right to accept any portion of any quotation.

Quotations will be adjudicated according to Council's Supply Chain Management Policy based on the Preferential Procurement Framework Act, Act number 5 of 2000. 80/20 calculation methods will be applied.

Civic Centre KLERKSDORP 19/05/2014

QUOTATION: EE 2013-16 COMPLETE OVERHAUL OF ENGINE AND COOLINGSYSTEM OF CAT 936 FRONT END LOADER

Sealed quotations, duly endorsed: "QUOTATION: EE 2013-16: COMPLETE OVERHAUL OF ENGINE AND COOLINGSYSTEM OF CAT 936 FRONT END LOADER" addressed to the Municipal Manager, P O Box 99, KLERKSDORP, 2570 and to be placed before the closing date and time in the tender box in the foyer of the Civic Centre, Bloem Street, Stilfontein, are hereby invited and will be received by the undersigned up till 11:00 on 27 MAY 2014.

Specifications and more information can be obtained from the Acting Assistant Director Mechanical and Fleet: Mr G Nelson, P O Box 99, Klerksdorp, 2570, telephone number 018 487 8724.

Quotation documents are obtainable on payment of a non refundable fee of R50.00 and can be collected from the SCM Unit at room 108, contact no 018 487 8258, Civic Centre, Bloem Street, Stilfontein.

City Council reserves the right to accept any portion of any quotation.

Quotations will be adjudicated according to Council's Supply Chain Management Policy based on the Preferential Procurement Framework Act, Act number 5 of 2000. 80/20 calculation methods will be applied.

Civic Centre KLERKSDORP 19/05/2014

QUOTATION: EE 2013-17 COMPLETE OVERHAUL OF ENGINE FOR CATTERPILLAR 140G GRADER 3306 DI

Sealed quotations, duly endorsed: "QUOTATION: EE 2013-17: COMPLETE OVERHAUL OF ENGINE FOR CATTERPILLAR 140G GRADER 3306 DI" addressed to the Municipal Manager, P O Box 99, KLERKSDORP, 2570 and to be placed before the closing date and time in the tender box in the foyer of the Civic Centre, Bloem Street, Stilfontein, are hereby invited and will be received by the undersigned up till 11:00 on 27 May 2014.

Specifications and more information can be obtained from the Acting Assistant Director Mechanical and Fleet: Mr G Nelson, P O Box 99, Klerksdorp, 2570, telephone number 018 487 8724.

Quotation documents are obtainable on payment of a non refundable fee of R50.00 and can be collected from the SCM Unit at room 108, contact no 018 487 8258, Civic Centre, Bloem Street, Stilfontein.

City Council reserves the right to accept any portion of any quotation.

Quotations will be adjudicated according to Council's Supply Chain Management Policy based on the Preferential Procurement Framework Act, Act number 5 of 2000. 80/20 calculation methods will be applied.

Civic Centre KLERKSDORP 19/05/2014

QUOTATION: EE 2013-14 REPAIRS AND MAINTENANCE OF ONE COMPLETE GEARBOX AND CLUTCH OF ROLLBACK TRUCK

Sealed quotations, duly endorsed: "QUOTATION: EE 2013-14: REPAIRS AND MAINTENANCE OF ONE COMPLETE GEARBOX AND CLUTCH OF ROLLBACK TRUCK" addressed to the Municipal Manager, P O Box 99, KLERKSDORP, 2570 and to be placed before the closing date and time in the tender box in the foyer of the Civic Centre, Bloem Street, Stilfontein, are hereby invited and will be received by the undersigned up till 11:00 on 27 May 2014.

Specifications and more information can be obtained from the Acting Assistant Director Mechanical and Fleet: Mr G Nelson, P O Box 99, Klerksdorp, 2570, telephone number 018 487 8724.

Quotation documents are obtainable on payment of a non refundable fee of R50.00 and can be collected from the SCM Unit at room 108, contact no 018 487 8258, Civic Centre, Bloem Street, Stilfontein.

City Council reserves the right to accept any portion of any quotation.

Quotations will be adjudicated according to Council's Supply Chain Management Policy based on the Preferential Procurement Framework Act, Act number 5 of 2000. 80/20 calculation methods will be applied.

Civic Centre KLERKSDORP 19/05/2014 ET MOTSEMME MUNICIPAL MANAGER

CITY OF MATLOSANA

QUOTATION: EE 2013-20

RE-ADVERT

Sealed quotations, duly endorsed: "QUOTATION: EE 2013-20: REPAIR AND RECONDITION ENGINE, FUEL PUMP COMPRESSOR AND CLEAN COOLING SYSTEM CAT 140G GRADER " addressed to the Municipal Manager, P O Box 99, KLERKSDORP, 2570 and to be placed before the closing date and time in the tender box in the foyer of the Civic Centre, Bloem Street, Stilfontein, are hereby invited and will be received by the undersigned up till 11:00 on 27 MAY 2014.

Specifications and more information can be obtained from the Acting Assistant Director Mechanical and Fleet: Mr G Nelson, P O Box 99, Klerksdorp, 2570, telephone number 018 487 8724.

Quotation documents are obtainable on payment of a non refundable fee of R50.00 and can be collected from the SCM Unit at room 108, contact no 018 487 8258, Civic Centre, Bloem Street, Stilfontein.

City Council reserves the right to accept any portion of any quotation.

Quotations will be adjudicated according to Council's Supply Chain Management Policy based on the Preferential Procurement Framework Act, Act number 5 of 2000. 80/20 calculation methods will be applied.

Civic Centre KLERKSDORP 19/05/2014